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5.	 Lee el artículo y elige las frases correctas. Marca (√) seis casillas.	 [6]


	 Vocabulary
	 1 el machismo – male chauvinism
	 2 la desigualdad de género – gender inequality
	 3 frenar – slow down
	 4 empoderar – to empower


En Colombia la lucha contra el machismo1 es protagonizada por hombres 
jóvenes. Muchachos menores de 18 años intentan combatir la desigualdad de 
género2 usando varios deportes.


Luis Daniel, 16 años, explicó que este fenómeno se reproduce en muchas 
familias y que hay que estar en contra los estereotipos. Solucionar el problema 
sólo sería posible con la participación de los jóvenes.


“No debemos tener una actitud pasiva ante el machismo. Cuando tengamos 
una familia, ese cambio se verá reflejado en nuestros hijos”, nos dijo este joven.


Su compañero, Tomás Gómez, añadió, “Lo más importante es tratar de frenar3 
el machismo inmediatamente. Cuando uno no dice nada, se va normalizando”.  
Dijo que no les deseaba a su hermana y a sus primas una vida en una sociedad 
machista.


“Todos debemos ayudar en la cocina, sacar la basura o hacer la cama. Hay que 
empoderar4 a las chicas.”
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(a) En Colombia los chicos no practican muchos deportes.


(b) El deporte se usa para cambiar las actitudes machistas.


(c) Los prejuicios racistas existen hoy en día en Colombia.


(d) Se dice que la igualdad para las chicas empieza en la escuela.


(e) La sociedad debe rechazar ideas estereotípicas sobre las mujeres.


(f) Los hombres jóvenes son responsables de cambiar las actitudes.   


(g) Luis no piensa que sea posible cambiar la situación pronto.


(h) Tomás opina que se debe esperar un rato antes de intervenir.


(i) Si no hablamos de los problemas, la situación se hace normal.


(j) Tomás no quiere que sus parientes femeninas sufran el machismo.


(k) Según Tomás, las mujeres tienen que hacer las tareas del hogar.


(l) En la casa de Tomás, su hermana siempre hace la limpieza.


(m) Tomás piensa que los chicos y las chicas deberían ser iguales.








6 : 3



Sticky Note

One mark



Sticky Note

One mark



Sticky Note

One mark



Sticky Note

Q6. The candidate has correctly identified 3 statements. 

3/6





















6 : 4



Sticky Note

One mark



Sticky Note

One mark



Sticky Note

One mark



Sticky Note

4/6



Sticky Note

The candidate did not pick up the word 'augmenter', which rules out (v).



Sticky Note

Q6. The candidate rejected (iii), which was correct. They have confused 'un tiers' with 'triplé'. 





















6 : 5



Sticky Note

One mark



Sticky Note

Q6. The candidate has missed (x) as a correct answer, opting for (i) instead.

5/6
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Question 6 [6] 
 
Marcel :  « L’immigration existe partout dans le monde et le Canada est l’un des pays 


les plus multiculturels de la planète. » 
 
Nadine :  « Un tiers des Canadiens sont immigrants et ce chiffre continue à augmenter. » 
 
Marcel :  « Le Canada a accueilli trois cent mille immigrants l’année dernière. C’est un 


nombre impressionnant. »  
 
Nadine :  « Oui bien sûr. Cependant, la majorité des Canadiens pensent que les 


immigrants devraient adopter leur culture et leur langue. » 
 
Marcel :  « Mais il est vrai que l’immigration est une bonne chose pour le pays. » 
 
Nadine :  « Par contre, certains Canadiens croient que les immigrants prennent « nos 


emplois » mais je ne suis pas d’accord. » 
 
 


(i) Canada helps to save our planet.  


(ii) Canada supports multiculturalism.  


(iii) A third of Canadians are immigrants.  


(iv) The number of immigrants has tripled.  


(v) Canada welcomed fewer immigrants last year.  


(vi) Last year an impressive number of immigrants entered Canada.  


(vii) Most Canadians believe that immigrants should speak their language.  


(viii) Very few immigrants adopt the Canadian culture.  


(ix) Immigrants have to pay to enter Canada.  


(x) Marcel believes that immigration benefits Canada.   


(xi) Some Canadians believe that immigrants are taking their jobs.  


(xii) Nadine thinks that immigrants take Canadians’ jobs.  
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6.	 Listen to this news item about immigration presented by Marcel and Nadine. Tick (√) the six 
correct statements.	 [6]


(i) Canada helps to save our planet.


(ii) Canada supports multiculturalism.


(iii) A third of Canadians are immigrants.


(iv) The number of immigrants has tripled.


(v) Canada welcomed fewer immigrants last 
year.


(vi) Last year an impressive number of 
immigrants entered Canada.


(vii) Most Canadians believe that immigrants 
should speak their language.


(viii) Very few immigrants adopt the Canadian 
culture.


(ix) Immigrants have to pay to enter Canada.


(x) Marcel believes that immigration benefits 
Canada. 


(xi) Some Canadians believe that immigrants are 
taking their jobs.


(xii) Nadine thinks that immigrants take 
Canadians’ jobs.












7a : 0


7b : 0


7c : 0


7d : 0


7e : 0



Sticky Note

Q7. The candidate has made a lot of guesses here. In (b) they have heard the 5 in 2005 but the remaining answers show little comprehension of this text.

0/5 





















7a : 1


7b : 1


7c : 1


7d : 1


7e : 0



Sticky Note

4/5



Sticky Note

Q7.  A very good start but the final answer is a repeat of (d) and incorrect.





















7a : 0


7b : 0


7c : 0


7d : 0


7e : 0



Sticky Note

Q7. The candidate has really struggled with this text, which is the first overlap question.

Q7. 0/5
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Question 7 [5] 
 
Section 1 
 
Didier : « Tu as fait quoi hier ? » 
 
Annie : « J’ai regardé un film à la maison. »  
 
Didier : « C’était quelle sorte de film ? » 
 
Annie : « Un film policier. » 
 
Didier : « C’est un film récent ? » 
 
Annie : « Attends, je vérifie sur Internet… Non, ce film a été réalisé en 2005. » 
 
Didier : « Ils disent quoi d’autre sur le film ? » 
 
Annie : « Le film a eu un grand succès avec le public. » 
 
 
Section 2 
 
Didier : « C’est avec qui ? » 
 
Annie : « C’est avec un acteur suisse. C’est un acteur vraiment sérieux. » 
 
Didier : « Bon, je ne le connais pas. Et, c’était bien ? » 
 
Annie : « Oui, il faut absolument le voir. » 


 
 
Section 1 
 
(a) Any one: police/crime/detective  (1) 
 
(b) 2005 (1) 
 
(c) Any one: successful/(public) success  (1) 
 
 
Section 2 
 
(d) Any one: Swiss/serious  (1) 
 
(e) have to see it (1) 
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7.	 Read this extract adapted from La casa de los espíritus by Isabel Allende. Answer the 
questions in English.	 [8]


	 Vocabulary
	 1 la rareza – strangeness


En el colegio británico, Alba tuvo que comer verduras frías y carne quemada y tolerar el frío 
del patio. 


Le enseñaron a leer la Biblia, jugar al tenis y hacer su propia ropa. Esta última actividad fue 
la única cosa útil que le dejaron aquellos largos años de educación extranjera. 


Para Alba, la rutina del colegio le pareció intolerable. Se aburría en las clases. En los 
recreos se sentaba en el lugar más lejano del patio deseando que la invitaran a jugar y 
esperando al mismo tiempo que nadie la mirara.


La directora no tuvo dificultad en notar, desde los primeros días, la rareza1 de su nueva 
alumna.


La observó por un par de semanas, llamó a la madre a su despacho y le explicó, en la 
forma más cortés que pudo, que una educación británica no le quedaba bien a la niña y 
sugirió que la pusiera en un colegio católico español.


	 (a)	 What did Alba have to put up with at school? Write two details.	 [2] 


		  •  . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .


		  •  . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .


	 (b)	 Which skill, learnt at school, did Alba still have later in life?	 [1] 


	


	 (c)	 What did Alba think of her lessons?	 [1] 


	


	 (d)	 Explain why Alba found breaktimes difficult. Write two details.	 [2] 


		  •  . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .


		  •  . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .


	 (e)	 What did the headmistress suggest to Alba’s mother and why?	 [2] 


	


	








8s1 : 0


8s2 : 0



Sticky Note

0/5



Sticky Note

A number of candidates wrote football as an answer here, perhaps mishearing 'photocopier'. Many also mistook 'table' for tablet.



Sticky Note

Q8. 'café' was mistaken for the English word café, when it actually referred to coffee in this text. They have heard 'je suis arrivé' and then incorrectly guessed late. They have heard reference to a phone and guessed an answer.





















8s1 : 0


8s2 : 0



Sticky Note

0/5



Sticky Note

Q8. The candidate has struggled to make sense of this text. They have caught odd words but not understood it within the context of the text.





















8s1 : 1


8s2 : 0



Sticky Note

Q8. 1/5



Sticky Note

The candidate has misunderstood 'photocopier' as something to do with photos. They have heard 'ordinateur' but have not understood what happened with the computer. 



Sticky Note

Q8. The candidate has heard 'café' and assumed it is the place rather than the other meaning of 'coffee'. The candidate has heard the word 'sympa' but has not realised it was 'tout le monde' it was referring to.
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Question 8  [5] 
 
Section 1 
 
Youssef : Je suis parti tôt le matin, avec un café à la main prêt pour ma journée. Mais je 


suis arrivé en retard. Malgré tout ça, tout le monde était sympa. J’ai dû 
répondre au téléphone ce qui était bien pour moi parce que j’aime bien parler 
avec tout le monde. 


 
 
Section 2 
 
Youssef : Par contre, l’après-midi était vraiment affreux. Mon patron m’a demandé de 


photocopier beaucoup de lettres. Malheureusement, la photocopieuse était 
en panne. Ensuite, j’ai cassé un ordinateur qui était sur la table de mon 
patron. Affreux ! 


 
 
Section 1 
 


Three details about Youssef’s morning Any three: (3) 


• left early 


• coffee 


• arrived late  


• everyone was nice/kind 


• answered phone 
 


 
Section 2 
 


Two details about Youssef’s afternoon Any two: (2) 


• awful 


• (asked to) photocopy letters 


• photocopier was not working 


• broke a computer 
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8.	 Listen to Youssef talking about his work placement. Complete the grids in English.	 [5]


	 Section 1


Three details about Youssef’s morning � [3] 


	 (i) 	                                                                                 


	 (ii) 	                                                                                 


	 (iii) 	                                                                                 


	 Section 2


Two details about Youssef’s afternoon � [2] 


(i)                                                                                 


(ii)                                                                                 








9a : 0


9b : 1


9c : 0


9d : 0



Sticky Note

1/5



Sticky Note

Q9. The candidate seems to have difficulty with numbers throughout the paper. They have heard words such as désastre' and 'famille' and tried to make an answer out of this.





















9a : 0


9b : 0


9c : 0


9d : 1



Sticky Note

1/5



Sticky Note

Lively is a strange answer for describing a bedroom. Candidates should try to make an appropriate guess if they are not sure of an answer.



Sticky Note

Not knowing the answer, the candidate has made a possible guess.



Sticky Note

Q9. Numbers are always worth writing out in full when heard to ensure the correct translation.





















9a : 1


9b : 0


9c : 0


9d : 0



Sticky Note

Q9. 1/5



Sticky Note

Here the candidate has heard 'désastre' and 'famille' and has guessed an answer as a result.



Sticky Note

Q9. Here the candidate has heard 'jolie' but not realised it was 'pas du tout jolie'. Negatives are often missed by candidates.
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Question 9  [5] 
 
Section 1 
 
Rachida :  Nous sommes arrivés à notre hôtel après un voyage de vingt-quatre heures, 


pour découvrir avec horreur ce que nous avions réservé. L'annonce disait 
que l’hôtel était beau mais quand je l’ai vu, j’ai été très déçue et vraiment 
choquée.  


 
 
Section 2 
 
Rachida : Notre chambre était minuscule et pas du tout jolie. Quant à l’extérieur, il y 


avait des bouteilles dans la piscine. En plus, les jardins étaient sales. Il y avait 
des chaises cassées et des papiers partout. L’hôtel était un grand désastre 
mais les vacances avec ma famille sont toujours parfaites. 


 
 
Section 1 
 
(a) Any one: a day/24 hours  (1) 
 
(b) Any one: horrified/disappointed/shocked  (1) 
 
 
Section 2 
 
(c) Any one: tiny/not pretty (1) 
 
(d) Any two:  (2) 


dirty 
broken chairs 
paper/rubbish  
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9.	 Listen to Rachida’s audio clip on a holiday forum. Answer the questions in English.	 [5]


	 Section 1


	 (a)	 How long did the journey last? � [1]


	


	 (b)	 How did Rachida feel when she arrived at the hotel? Write one detail.� [1]


	


	 Section 2


	 (c)	 Describe the hotel bedroom. Write one detail.� [1]


	


	 (d)	 How do we know that the hotel gardens were not suitable? Write two details.� [2]


	 •	 		


	 •	 		


END OF PAPER








1a : 1


1b : 1


1c : 1



Sticky Note

Question 1 - Total 4 marks



Sticky Note

One mark



Sticky Note

One mark



Sticky Note

One mark



Sticky Note

One mark





















1a : 1


1b : 1


1c : 1



Sticky Note

Question 1 - Total 5 marks



Sticky Note

One mark



Sticky Note

One mark



Sticky Note

One mark



Sticky Note

One mark



Sticky Note

One mark





















1a : 1


1b : 0


1c : 1



Sticky Note

One mark



Sticky Note

One mark



Sticky Note

Q1. The candidate has confused 'différent' and 'délicieux'. 
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Question 1 [5] 
 
Section 1 
 
Sophie : « J’adore le repas de Noël parce que ma mère prépare un grand curry. » 
 
Olivier : « Un curry ? C’est différent, n’est-ce pas ? » 
 
Sophie : « Oui je sais, mais ma famille déteste les repas traditionnels. » 
 
 
Section 2 
 
Olivier : « Chez moi nous mangeons toujours de la dinde avec des légumes. » 
 
Sophie : « Pas pour moi, c’est trop ennuyeux. » 
 
 
Section 1 
 
(a) Who makes Sophie’s Christmas dinner? (1) 
 


her mother ✓ 


her grandmother  


her stepmother  


 
 
(b) Olivier thinks that Sophie’s meal is …  (1) 
 


delicious  


delightful  


different ✓ 


 
 
(c) Sophie’s family hates …  (1) 
 


spicy food  


vegetarian food  


traditional food ✓ 
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1.	 Sophie and Olivier are talking about Christmas.	 [5]


	 Tick (√) the correct boxes. 


	 Section 1


	 (a)	 Who makes Sophie’s Christmas dinner?� [1]


her mother


her grandmother


her stepmother


	 (b)	 Olivier thinks that Sophie’s meal is … � [1]


delicious


delightful


different


	 (c)	 Sophie’s family hates … � [1]


spicy food


vegetarian food


traditional food








2a : 1


2b : 0


2c : 0


2d : 0


2e : 1



Sticky Note

One mark



Sticky Note

One mark



Sticky Note

One mark



Sticky Note

One mark



Sticky Note

One mark



Sticky Note

2/5



Sticky Note

The candidate has taken a guess here as they did not understand 'en ligne'.



Sticky Note

'chez moi' seemed not well recognised by candidates.



Sticky Note

Q2. Candidates often confuse numbers that sound similar. 'Trois' and 'treize' have been mixed up.





















2a : 1


2b : 1


2c : 1


2d : 1


2e : 1



Sticky Note

One mark



Sticky Note

One mark



Sticky Note

One mark



Sticky Note

One mark



Sticky Note

One mark



Sticky Note

Q2. 5/5





















2a : 0


2b : 1


2c : 1


2d : 1


2e : 1



Sticky Note

One mark



Sticky Note

One mark



Sticky Note

Q2 4/5



Sticky Note

Q2 The candidate has not recognised the word 'cher' so has taken a guess.
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Question 2  [5] 
 
Section 1 
 
Gareth :  « Je pense que les transports en commun ici au pays de Galles sont vraiment 


trop chers. Tu es d’accord ? » 
 
Juliette :  « Non, pas vraiment, un ticket de bus coute seulement trois livres. » 
 
 
Section 2 
 


Gareth :  « Un avantage − la gare routière est tout près de chez moi. » 
 
Juliette :  « Et maintenant on peut acheter les billets en ligne. » 
 
Gareth :  « Oui, en ligne c’est plus rapide. » 
 
 
Section 1 
 
(a) Gareth thinks that public transport is … (1) 
 


easy difficult expensive 


  ✓ 


 
(b) A bus ticket costs …  (1) 
 


£3 £13 £30 


✓   


 
 
Section 2  
 
(c) The bus station is … (1)  
 


in town near Gareth’s house opposite the school 


 ✓  


 
(d) You can buy tickets … (1) 
 


online at the station on the bus 


✓   


 
(e) Gareth thinks that this is …   (1) 
 


easier faster cheaper 


 ✓  
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2.	 Gareth and Juliette are talking about public transport.	 [5]


	 Tick (√) the correct boxes. 


	 Section 1


	 (a)	 Gareth thinks that public transport is …� [1]


easy difficult expensive


	 (b)	 A bus ticket costs …� [1]


£3 £13 £30


	 Section 2 


	 (c)	 The bus station is …� [1]


in town near Gareth’s house opposite the school


	 (d)	 You can buy tickets …� [1]


online at the station on the bus


	 (e)	 Gareth thinks that this is …� [1] 


easier faster cheaper








3a : 1


3b : 0


3c : 0


3d : 1



Sticky Note

2/4



Sticky Note

Here the candidate has heard 'chaque' and has instantly ticked the answer containing that word, rather than listen further and hear 'chaque jour', which is similar in meaning to 'tous les jours' in the answer.



Sticky Note

Q3. The candidate has not recognised 'quelquefois' as similar in meaning to 'de temps en temps'. Synonyms should be practised.





















3a : 0


3b : 1


3c : 1


3d : 1



Sticky Note

3/4



Sticky Note

Q3. The candidate has not heard 'travaillent tard le soir'.





















3a : 1


3b : 0


3c : 0


3d : 1



Sticky Note

Q3. 2/4



Sticky Note

Here they have heard 'chaque' and immediately answered without spotting it was 'chaque jour', therefore synonymous with 'tous les jours'. 



Sticky Note

Q3. The candidate has not recognised that 'de temps en temps' is synonymous with 'quelquefois'.  
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Question 3 [4] 
 
Section 1 
 
Aujourd’hui je vais parler des problèmes que les devoirs posent à toutes les familles. 
 
D’abord, il y a des parents qui travaillent tard après dix-sept heures.  
 
Ensuite, les enfants sont de temps en temps fatigués après leur journée d’école.  
 
 
Section 2 
 
Les professeurs sont obligés de donner des devoirs aux élèves chaque jour. 
 
Bref, les devoirs sont nécessaires, mais passer du temps avec la famille, c’est aussi 
important. 
 
 
Section 1 
 
(a) Quelques parents … (1) 
 


ne travaillent pas  


travaillent le soir ✓ 


sortent le soir  


 
(b) Les enfants sont … (1) 
 


toujours fatigués  


quelquefois fatigués ✓ 


un peu fatigués  


 
 
Section 2 
 
(c) Les professeurs donnent des devoirs …  (1) 
 


chaque semaine  


une fois par mois  


tous les jours ✓ 


 
(d) Les devoirs sont … (1) 
 


faciles  


essentiels ✓ 


ennuyeux  
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3.	 Écoute ce reportage sur Internet.	 [4]


	 Coche (√) les bonnes cases.


	 Section 1


	 (a)	 Quelques parents …� [1]


ne travaillent pas


travaillent le soir


sortent le soir


	 (b)	 Les enfants sont …� [1]


toujours fatigués


quelquefois fatigués


un peu fatigués


	 Section 2


	 (c)	 Les professeurs donnent des devoirs …� [1]


chaque semaine


une fois par mois


tous les jours


	 (d)	 Les devoirs sont …� [1]


faciles


essentiels


ennuyeux












4a : 1


4b : 1



Sticky Note

One mark



Sticky Note

One mark












4a : 1


4b : 1












4a : 1


4b : 1



Sticky Note

One mark





















4a : 1


4b : 0



Sticky Note

Q4. The candidate has focussed on the word 'recharger' and has missed the cognate 'câble'.
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Question 4  [5] 
 
Section 1 
 
Madeline :  « Allô, j’ai un problème avec ma tablette. » 
 
Operator :  « C’est quoi le problème mademoiselle ? » 
 
Madeline :  « Malheureusement elle ne se recharge pas. » 
 
Operator :  « Il faut changer de câble. Si la tablette commence à se recharger, alors le 


problème était le premier câble. » 
 
 
Section 2 
 
Madeline : « Je suis stressée ! Elle ne fonctionne pas. » 
 
Operator : « Est-ce que vous transportez votre tablette dans votre sac à main ? »  
 
Madeline : « Oui, pourquoi ? » 
 
Operator : « Nettoyez votre tablette et après douze heures la connexion sera normale. » 
 
 
Section 1 
 
(a) Madeline a un problème avec … (1) 
 


 


  


 ✓  


 
(b) Il faut changer …  (1) 
 


   


✓   
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4.	 Madeline parle au téléphone. Écoute la conversation et coche (√) les bonnes cases.	 [5]


	 Section 1


	 (a)	 Madeline a un problème avec …� [1]


	 (b)	 Il faut changer … � [1]












5a : 0


5b : 0


5c : 0


5d : 0



Sticky Note

0/5



Sticky Note

Q5. The candidate has not got to grips with what this text is about. They have heard 'le bac' and translated it as a cognate. They have heard 'matière' and thought it was maths. 





















5a : 0


5b : 0


5c : 1


5d : 2



Sticky Note

3/5



Sticky Note

The candidate is almost there. They needed to say that he doesn't have a favourite subject.



Sticky Note

Q5. The candidate does not know the meaning of 'le bac'.





















5a : 1


5b : 0


5c : 1


5d : 2



Sticky Note

Q5. 4/5



Sticky Note

Q5. The candidate has heard the negative  and assumed Fabien does not like the subject.
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Question 5  [5] 
 
Section 1 
 
Fabien :  « Je ne sais pas du tout ce que je veux faire après le bac. » 
 
Professeur :  « Pourquoi ? » 
 
Fabien :  « J’ai un problème. Je n’ai pas de matière préférée. »   
 
Professeur :  « Mais tu es fort en anglais, hein ? » 
 
Fabien :  « Ah oui, c’est vrai. »   
 
 
Section 2 
 


Professeur :  « Un conseil − fais une liste des matières que tu n’aimes pas. Et aussi de 
tes loisirs, de tes passions et puis des activités que tu n’aimes pas. 
Ensuite tout sera plus clair. » 


 
 
Section 1 
 
(a) Any one: exams/bac/school subjects/future plans  (1) 
 
(b) he does not have a favourite subject  (1) 
 
(c) English (1) 
 
 
Section 2 
 
(d) Any two: subjects (he does not like)/his hobbies/his passions/(what) activities (he 


does not like)  (2) 
 
 
  







